AT

AUTOGRIP MACHINERY

TS

RSB E 22 B35 JH K il
AFLEBRER | MEHL

BRI - BAA RO REL
FBAARNABAERITENIY ZZBAERNSEEEX -
 INERRE L E IR B B RS TR

F I o AEmHEZ -

+ O[3%W@A40s, @600 ABEKEEL -
* ERTRFES 872 : PAT.NO.M491534 | A : PAT.NO.ZL201420584274.5

AR

SotRE

SEEEA - SEEE R -AI B 1o 12| e B meFERAEN
cm? cm? min”'(rp.m.) MPa(kgf/cm?)
TS-539 T2 67.1 15 8000 4.5(45)
TS-866 168 155.5 25 5600 45(45)
TS-1081 189.2 174.3 25 4800 4.5(45)
N
Wi y Qa1 P L2 B~L1
1 2~ Mounting Hole 25 = =—
= % 6~X2 T ~ = 1
Y1 ‘ N1
) 3 3 I L .
; /f“?"v\( ‘ - ] tha‘ = N;ZF mi —H i
i / By o bt m Jd OB E - -
I [ \ og o~ = wLwoomo
(e] { 1 i ’ = ) g o o oo agt
o == AP e SISST S e S M3 M2,
2x2~Q3 N : 14 — +L | |
B, c ¢ ¢ t A M1
S : e
d 4 ‘ s |
= ‘\ L 4
- 4~Y2 L
P WAL = |
! Dr B —— ' ol ! L. H JG1
. 933 G2 _ J

I S BB

CINECIRNNCE

: _ J L L2 M3
min max [ min

0 425 275 57 91 124 12

6~M10x20  M8x60

Cc N
(h7)
125 10 52

T5-539 107 143 141 125 15

M45x15 256 12 M44x15 26 8 42 39 85 85 30 RCl/4 4
TS-866 165 211 207 190 190 168 85 25 0 55 30 725 107 149 12~M10x20 MIOx80 1756 M75x2 35 15 M74x15 37 8 72 665 105 12 45 RCl/2 72 100

TS-1081 180 226 222 205 205 168 100 25 0 58 33 74 115 166 12~MI0x20 MIOx80 16 MO0x2 35 15 M89X20 38 9 85 81 109 15 45 RCI/2 86 13

0.012
0.056
0.085

R S
03 T U V Wi
. (g7) IlIl
2 69 72 10 625

1M

123

6.9
16.3
21.2

140

160

100

lit./min

3.0
4.0
4.3

Y1
90 Mbx12 5
140 M6x10 5

160 M6XI0 5

WWW.AUTOGRIP-MACHINERY.COM

AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Rotary-Cylinders/Thru-Hole/TS/TS_img.jpg

